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/* Node.java */ /* Program.java */
public class Node { public class Program {
public int data;
public Node left; // KEDT public static void main(String[] args) {

public Node right; // AD T
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public Node(int data) { Tree tree = new Tree();
this.data = data; tree.root = new Node(43);
left = right = null;

} tree.root.left =

tree.root.right =

/* Tree.java */
public class Tree {
public Node root; // 18

public Tree() {
root = null;

}

public void traverse() {
traverse(root);

}
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public void traverse(Node n) {
if (n == null) return;

/* Kk */

traverse(n.left);

/¥ D */

traverse(n.right);

/* & */ }
} }

tree.traverse();

}
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public class Tree {
/* 1.0 7 A Treell, LLF&ZEINT D */
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public Node search(int key) {
return search(key, root);

}
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public Node search(int key, Node n) {

if (n == null)
return null;

if (key < n.data) {

return search(key, )
ilse if (key > n.data) {

return search(key, )
}
return

/] INEEBRET 272D T v 7T L

public class Program {

public static void main(String[] args) {
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Tree tree = new Tree();
/* TZT2ERICRD DI WCARZREST D */
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System.out.print ("HEREL -> ");

int key = new java.util.Scanner(System.in).nextInt();
Node found = tree.search(key);

System.out.println("®&-272°0V £" + (found != null ? "L/, "

"HATLE, "));
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